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	Gradients and Lines
	Non Linear graphs
	Expanding and factorising
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Cube Cubic Estimate

Curve Substitute
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Expand Factorise Multiply out
Coefficient Bracket Identity
HCF Factorise fully
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Work out the equation of each line.
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x [-3|-2|-1]0 1 2 3
y —10 0

Ron thinks that when x =1,y = 4, but Alex thinks that when
x =1,y =2.Whois correct? How do you know?

y=x}+x

@ Complete the table of values.

@ Draw the graph of y = x? + x for values of x from =3 to0 3
How could you tell if one of your coordinates is incorrect?

@ Describe the features of the graph.

@ Use your graph to estimate the value of x wheny =5

T What do you notice about x wheny = —5?
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Dani factorises 9 — 6x using algebra tiles.

3 —2x

Factorise.
&9 +6x M12x+4 ®@-15-10x & x2+6x
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Find the gradient of the red line.

vertical distance
horizontal distance
c

2
(3 =2
<— work out vertical distance

b\l

work out horizontal distance

gradient =




image2.png
a) Complete the table for
y=x3—4x

x|-3]-2]-1]0]1|2|3

ylslo[3|o]-3[ol5

03-4:x0=0 ~3x-3x-3=-27

(-3)-4x(2)=-15

_ b) On the grid, draw the
graph of y = x® — 4x
- c¢) Estimate the
x-coordinates of the
turning points of the
graph. =12, -2
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Factorise the following 6—\
ox +8 :2_(:c+l+) 2(x+u) =2x+8

6x—9 =3(1x-3)
X2+ 5x = x(x+5)
4x2 = 2x = 2% (-1 ) 2(21’—1\

8x° + 12x = lxi(2x 4 3)
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Gradient  y-intercept Equation Axis
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